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4b

Written methods

486 + 248 = 734

834 — 276 = 558

784 + 6,568 = 7,352
62 x 4 = 248

7,340 — 3,206 = 4,134
4,360 + 2,086 = 6,446
6,314 — 485 = 5,829

5 x 136 =680

3,057 — 2,693 = 364
89+ 97+ 75 =261
407 x 8 = 3,256

8,104 — 2,347 = 5,757
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Carrying.

Exchanging.

Aligning numbers, carrying.

Carrying final digit.

Calculating with zero.

Calculating with zero

Aligning numbers, exchanging from one.

Carrying digits, commutativity.

Exchanging across zero.

Adding 3 numbers, carrying final digit.

Carrying digits, calculating with zero.

Exchanging across zero, exchanging from
one.
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